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Chapter: Integration Class: XII

Topic: Integration By Parts Date: 30.06.2020

Choose the correct option (1X15=15)

1. Ixseczxdxz
2

X
(A) tanx+Incosx+c (B) TSec2x+Incosx+c

(C) xtanx+Insecx+c (D) xtanx+Incosx+c¢

Ans. (D)
2. jsin(lnx)dxz

(A) %x(cos(lnx) —sin(lnx))+c¢

(B) cos(lnx)—x+c

(C) %x(sin(ln x)—cos(Inx))+c

(D) —cos(lnx)+c




3. Ifstinxdx ——XCOSX+ A, then A=

(A) sinx+c (B) cosx+c
(C) Constant (D) None of these  Ans. (A)

4, jxlnxdx:

x? x? x? x?

(A) —Inx——+cC —Inx——+cC
2 2 2 4

X2 x2
(C) 7Inx+7+c None of these  Ans. (B)

5. jxcosdx =

(A) xsinx+cosx+c¢ XSINX—COSX+C

(C) xcosx+sinx+c xcosx—sinx+c¢ Ans. (A)

6. cho:;2 xdx =

2
1 . 1

(A) X———x5|n2x——c052x+c
4 4 8

2

1T . 1
(B) X—+—xsm2x+—c052x+c
4 4 8

2
X 1 1

(C) ———xsin2x+—cos2x+c¢
4 4 8

2
1T . 1

(D) X—+—xsm2x——c052x+c
4 4 8




7. jtan_1 xdx =

(A) xta n_1x+%(ln(1+x2))+c

(B) xtan_1x—%(ln(1+x2))+c

(C) (x—Ttan 'x+c

(D) xtan_1x—xln(1+x2)+c
. than_1xdx:

1+x%) .

(A) tan x—£+c
2 2

>
x° =1 _ X

(B) ( )tan 'x—Z4+c
2 2

>
+1

(C) (X )tan_1x+£+c
2 2

+1
(D) > tan ' x—x+c

]dx_

(A) xIn(Inx)+ X _tc
(Inx)

(B) xIn(Inx)———+c¢
(Inx)

© xIn(nx)+ ™% +¢
X

(D) xln(lnx)—ln—x+c
X




10. J(sin(ln x)+cos(Inx))dx =

(A) xcos(lnx)+c (B) sin(Inx)+c

(€C) cos(inx)+c (D) xsin(lnx)+c Ans. (D)

V54 x'° :
11. ij dx is equal to

10
X

3/2 3/2
(C) %[1—%) +cC (D) 715[1+ > ] +C

3/2 3/2
(A) —?—L(H%) +c (B) —%[1—i) +C

X

10

X X

12. jcosecﬁxdx is equal to

t°x 2cot’
(A) —cotx—ms X_ c‘:; X 1k

cot x 2c0t5x
(B) — 3 + - +2cot3 x+k

3
tan’ x tanx
(C) - +2tan x+k

(D) None of these




dx is equal to

X
(x2+‘l)\fx2—|—1— F/)(2+1\
() 3
X

(WxZ+Din(x% +1)-2Inx}
13. j ,

2-3In
2
. X )

(B) (x2+‘l)~Jx2+1 F/x2+1\
9x>

2
. X )

(€) (x2+‘l)\ix2+1 F/xz+1\
x> \ x? )

(D) (x2+‘l)\./x2+1 F/x2+1\
9x>

2
. X )

dx
J(2x+3)\/4x+5

(A) tan"' V4x-5+c¢ (B) tan ' \4x+5+¢

(€) tan™ ' /5x+4 +c (D) tan™' \/5x—4 +¢

is equal to

dx )
15. I—IS equal to
5+4cosx
2 1 ) 2 1
(A) Ztan | _tan> (B) —= tan~! (—tani)Jrc
3 3 2) 3 3 2
1 X )

1
(C) —tan'| —tan= (D) None of these
3 \ 3 2 )
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